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QUESTION 1

Which feature of RTC supports the Development Intelligence imperative\\'s recommended action to "Make fact-based
decisions by relying on automatically generated live dashboards and reports that are based on data coming from team
activity"?

A. burndown chart

B. enforcement of associating a work item to a change set

C. role-based approval of test scripts

D. automated linkage of user stories to requirements

Correct Answer: A

QUESTION 2

When should a developer execute a personal build?
A. before the deliver action

B. before the checkin action

C. before the accept action

D. before the rebase action

E. before the checkout action

Correct Answer: A

QUESTION 3

What must be done to install CLM on UNIX or Linux servers?

A. install a Windows emulator on the system

B. rename all X11 libraries on the system to jazz.X11.

C. increase the limit of the number of files that can be opened on the system
D. decrease the number of users that can access the system

E. block access to all http ports on the application servers running on Linux

Correct Answer: C

QUESTION 4
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Which versions of RAD and Eclipse are compatible with RTC 4.0.1? (Choose two.)
A. RAD v8.5 onwards

B. RAD v7.5 onwards

C. Eclipse v3.6 onwards

D. Eclipse v3.4 onwards

Correct Answer: AC

QUESTION 5

CLM requires that which two LDAP groups be created? (Choose two.)
A. JazzDBUsers

B. JazzAdmins

C. JazzUsers

D. JazzBuilds

E. JazzServers

Correct Answer: BC
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